Hindi (10 x 1 = 10) Eg&

(7.1 & 2) fRder- 9ot § R wq ars2 & Forg @y Rradardt srear fasier a2 g
1. sfRaE

(A) AETITF (B) &=fous (C) == (D) dadi=r
2. 9%
(A) @8 (B) =T (CygzT (D) T=gT

(1.3 & 4) FA39T- =% g & g w= arse ifSm-
3. ‘gt iR g AT THT 6 A T "

(A) siater (B) smepTer (C) &t (D) TT=F

4. =i S At oV % T X FrERa g

(A) srearft (B) ®TATI (C) sregsrefia (D) FHIATS:
(1.5 & 6) f3er- L& TAAT AT Tk 7 947 ffow-

5. (A) #fiwmar (B) <fteam (C) Hisrar (D) Rrera
6. (A Th=r (B) ufeameft (C) wdramdf (D) gdrereft
7. HErE} F o et 7 % SugEa o @1 939 Sifsre-

“$g HT AT AT

(A) GErqE g (B) W HR A ATAT  (C) AW g (D) Gt g
8. ‘guRA FT A -

(A) T =T R (B) T &7 I BT (C) g w3 g (D) §F 781 g
9. “Chief Administrative Officer” ¥ for &Y watfy &-

(A) T&T H4THA ATGRRT (B) W& TaT AfdaTdr

(C) e Fema A arferprdy (D) T & FE 7k

10. “FET FATAI” FT TGl AT TATT §-

(A) Head Quarter (B) Head Office (C) Central Office (D) Main Office

English (10 x 1 =10)

Instructions for Q.11 & 12: Choose the best suited synonym of the given word from the following
options:

11. VACUOUS

(A) Ravenous (B) Truthfulness (C) Stupid (D) Dreamer
12. PRAGMATIC

(A) Practical (B} Magnetic (C) Liar (D) Arrogant
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Instructions for Q.13 & 14: Choose the best suited anonym of the given word from the following
options:

13. MELANCHOLY

(A) Sorrowful (B) Happy (C) Confused (D) Convicted
14. EMINENT
(A) Famous (B) Sad (C) Imminent (D) Unknown

“Instructions for Q.15 & 16: Choose the best suited analogy of the given set from the following
options (sets}):

15. Aggravate : Alleviate

(A) Later : Precede (B) Urbane : Naive
(C) Evasive : Wordy (D) Feeble : Worker
16. VINDICTIVE : MERCY
(A) Transient : Fleeting (B) Elated : Happy
(C) Crestfallen : Cognizant (D) Skeptical : Trustfulness

Instructions for Q.17 & 18: Identify parts of speech of the word(s) available in brackets.
17. She (as well as) her sister is engaged.

(A) Adverb (B) Adjective (C) Preposition (D) Conjunction
18. This golden ring is too (costly) to purchase.

(A) Adverb (B) Adjective (C) Preposition (D) Conjunction
Instructions for Q.19 & 20: Choose the proper word from the given options to fill-in the blanks:
19. Cannon had such unique qualities it was used widely in ancient times.

(A) that (B} so (C) since (D) this
20. She succeeded by hard.

{A) continuous working (B) working (C) continuous work (D) work

Teaching Methodology (10 x 1 = 10}

21. One will be an effective communicator if one
(A) communicates in his/her mother tongue (B) has histrionic talents
(C) is very clear about what he/she communicates (D) is a humourous speaker
22. Teaching aptitude means
(A) Devotion towards teaching work {B) The desire to become a teacher
(C) All the requisite abilities to do the job of a teacher (D) None of these

23. You are in class on the very first day of the opening session, and take introductions of the
students, the primary objective of this introduction for you is

(A) To know about students’ potentialities along with their family status
(B) Selection of those students who can do the school job for you

(C) Identification of potential

(D) Both (B) & (C)

24. A teacher is the leader both de jure and de facto. He is the authority before the students,
and so it is his right to lead. While assuming leadership of the students, he should follow
some important principles

(A) Creating right atmosphere in the class (B) Preparation and planning
(C) Providing opportunities (D) All of these
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25.

26,

27,

28.

29,

30.

31.

32,

33.

34,

35.

36.

5
Language is a ﬁ

(A) System of symbols for effective communication (B) Instinctive development

(C) Medium to express experiences (D) Medium for self enhancement
To educate according to nature means

(A) To come back to nature as opposed to mechanical life

(B} To educate in accordance with the law of nature of human development

(C) To study natural laws and apply them to the educational process

(D) All of the above

With respect to the development of skills, all of the following are correct except that
(A} Pupil of same mental age should learn at the same rate

(B) Group interaction increases the skills

(C) Group instruction facilitates the learning process

(D) Workbooks can be invaluable learning aid

A teacher in the class is

(A} A director of the group (B) The president of the group
(C) A leader and guide of the group {D) None of these
l refers to states within a person or animal that drive behaviour towards some
goal.
{A) Competence (B) Self-actualisation (C) Motivation (D) Affiliation
A child with average potential intelligence but fertile environment will achieve—
(A} A better life (B) Everything in life | (C) Nothing in life (D) An average life

Current Affairs (10 x 1 = 10)

Swapan Sarkar, who passed away recently, was associated with which field?

(A) Politics (B) Sports journalism (C) Law (D) Art

The museum for all former Prime Ministers of India will be constructed in which city?

(A) New Delhi (B) Gandhinagar (C) Lucknow (D) Kolkata

The Government of India (Gol) has reduced the minimum annual deposit requirement for
accounts under Sukanya Samriddhi Yojana from Rs. 1,000to ___ ?

(A) Rs 550 (B) Rs. 350 (C) Rs. 250 (D} Rs. 750

The Lok Sabha has recently passed the Fugitive Economic Offenders Bill 2018 to attach &
confiscate assets of defaulters. The cases involved in economic offences of how much
value will come under its purview?

(A) Rs. 500 Crore or more (B) Rs. 100 Crore or more

{C) Rs. 1000 Crore or more (D) Rs. 50 Crore or more

Gopal Das Neeraj, who passed away recently, was associated with which field?

(A) Journalism (B) Cartoon (C) Poetry (D) Sports

The Reserve Bank of India (RBI) will soon issue new 100 Rupee notes with motif of which
UNESCO World Heritage site?

(A) Sanchi Stupa (B} Rani Ki Vav (C) Hampi (D) Konark
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37.

38.

39.

40.

41,

42,

43.

45,

46.

47,

48.

49,

50.

2
Who is the author of the book “The Dhoni Touch: Unravelling the Enigma that is Mahendra @

Singh Dhoni"? O,
{A) Nuwan Kulasekara (B) Vijaya Kumar

(C) Jagdish Singh Rajput (D) Bharat Sundaresan

Which country hosted the 10th edition of BRICS Summit 20187

(A) South Africa (B) Brazil (C) Russia (D) China

Which city to host the 106th Indian Science Congress (1ISC-2019)7

(A) Bhopal (B) Jaipur (C) Patna (D) Jalandhar

The National Institute of Yoga (NIY) is located in which city?

{A) Kolkata (B) Udaipur (C) New Delhi (D) Kanpur

Numerical and Reasoning (10 x 1 = 10}

Look at this series: 7, 10, 13, 11, 25,12, . What number should come next?

(A) 42 (B) 49 {Cy43 (D) 53

Which word does NOT belong with the others?

(A) Inch (B) Cunce (C) Centimetres (D) Yard

Marathon is to race as hibernation is to

(A) Winter (B) Bear (C) Dream (D) Sleep
. Statement: It is desirable to put the child in school at the age of 5 or so.

Assumptions:

I.  Atthat age the child reaches appropriate level of development and is ready to learn.
. The schools do not admit children after six years of age.

(A) Only assumption | is implicit (B) Only assumption Il is implicit
(C) Either | or Il is implicit (D) Neither | nor Il is implicit
A two digit number is three times the sum of its digits. If 45 is added to it, the digits are

reversed. The number is
(A) 23 (B) 32 (C) 27 (D) 72

The sum of the digits of a two digit number is 12. If the new number formed by reversing
the digits is greater than the original number by 54, then what will be the original number?

(A) 93 (B) 28 {(C) 48 (D) 39

Three years ago the average age of A and B was 18 years. If C joins them today, the
average becomes 22 years. How old is C now?

(A) 27 (B) 24 (C) 30 (D) 28

Two numbers are in the ratio 3:5. If 9 is subtracted from each of the numbers, the new
numbers are in the ratio 12: 23. The smaller number is:

(A 27 (B) 33 (C) 49 (D) 55

If0.75: x:: 5: 8, then x is equal to:

(A) 1.12 {B)1.2 (C)1.25 (D) 1.30

A train 360 m long is running at a speed of 45 km/hr. In what time will it pass a bridge 140 m

long?
(AY40s {(B)45s (C)80s {D)55s
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53.
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55.

56.
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Subject(s) Concerned (50 x 1 = 50)

Who is the painter of famous painting “Maids of Honour”?

{A) Francisco de Goya {B) Caravaggio (C) Peter Paul Rubens (D} Diego Velasquez
Who is the author of famous waork ‘Critique of Judgement’?

(A) Frederich Hegel (B) Immanuel Kant (C) Archibald Aliscn (D) David Hume

In typography space between two characters is known as

(A) Leading (B) Tracking (C) Kerning (D) Legibility

‘CC’ is a measurement unit in

(A} Internet Advertising  (B) Radio Advertising (C) Outdoor Advertising  (D)Newspaper Advertising

Who is the action painter?

(A) James Ensor (B} Degas (C) Gose (D) Jackson Poliok
Who painted the “Age of Innocence”?

(A) Reynolds (B} Renoir (C) Picasso (D) Constable
Viscosity printing is done by using

{A) Types of oils (B} Thinness of colour {C) Rollers of different hardness (D) Plastic surface
In iconography of Vishnu ‘Gada’ is represented as

{A) Female companion (B) Celestial being {C) Male companion {D) A vehicle
Stone ware is made of

{A) Stone {B) Glass {C) Clay {D) Plaster of Paris
The sculpture titled “Horse” by Raymond Duchamp Vilion is made of

(A) Steel (B) Bronze {C) Granite (D) Marble

Where was the first mosque constructed in india?
(A) Qutb complex, Delhi  (B) Kodangallur, Kerala  (C) Panipat, Haryana (D) Ajmer, Rajasthan
Aquatint dust-box is used to spread which of the following?

(A) Lime powder (B) French-chalk powder (C) Pumice stone powder (D) Resin dust
Bolting cloth is used in which printing process?
(A} Lithography (B} Etching (C) Wood cut (D) Silk-screen printing

Sir Peter Scott, who was not a professional designer, but a naturalist, designed logo of which
organization in 19617

(A) WWF (B) Shell (C) Kodak (D) BMW

Notre Dame at Paris is

{A) Chapel {B) Church {C) Cathedral (D) Basilica

Ornate pillar in Diwan-i-Khas at Fatehpur Sikri bears influence of which Indian provincial style?
(A) Rajasthan {B) Guijarat (C) Malwa {D) Dececan
According to latest discovery where is found evidence of earliest use of oil in painting?

{A) Holland (B} Ajanta Caves {C) Grottoes of Bamiyan (D) Altamira Caves
Ceramics is a

(A) Mixture of cement (B) Fired clay body (C) Stone powder (D) Mixture of plaster
Scraper is used on plate for

(A) Polishing (B) Scraping (C) Texturing (D) Burnishing

tn print making, drawing Impression is transferred from stone to which type of paper?

(A) Tracing paper (B) Gelatin paper (C) French transter paper (D) Poster paper
First newspaper printing stared at which place?

(A) Cochin (B) Kalkata (C) Cuttack {D) Chennai .
Plancgraphic printing consists of which of the following set of processes?

(A} Stencil, Silk-screen, Serigraphy (B) Linocut, Wood cut, Wood engraving
(C) Surface printing, Litho printing, Offset printing (D) Dry-point, Metal engraving, Etching
Which liquid is used in Lino etching?

(A) Sulphuric acid (B} Nitric acid (C) Sodium Hydroxide {D) Hydrochloric acid

Sarnath Buddha image is made of which stone?

(A) Jodhpur Sandstone (B} Chunar Sandstone (C) Kashmir Limestone (D) Madras Granite
Which painting in the following list is not painted in tempera?

{A) Gopal Ghose, "A Village near Mussorie” (B) Benode Behari Mukherjee, “Village shop”
{C) Jamini Roy, “Three Pujaris” {D) Amrita Shergill, “Woman on charpai”
When did Picasso paint “Man with Violin"?

(A) 1912 B) 1918 {C) 1918 (D) 1930

After whom is the process “Tonking” named in oil-painting ?

(A) Sir Jean Tonk {B) Jean Dubuffet {C) Sir Henry Tonk (I3} Pablo Picasso
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78. What is patina?

(A) Paint coating (B) Chemical reaction (C) Scrubbing of surface (D) Washing of surface
79. Abdul Gaffer Khan's portrait was made by E' E
{A) Sarbari Roy Chowdhury (B) Pradosh Das Gupta .
{C) Dhanraj Bhagat (D} Sankho Chaudhary E
80. Match the following:
a. Vaishali i. Surya temple
k. Konark it. Asokan piflar
¢. Mohenjodaro iii. Stupa
d. Sanchi iv. Great Bath
a b c d
(A) i iii i iv
{B) ii i iv iii
{C) i ii iii iv
(D) iv i i ihi
81. Which material provides strength to clay? ,
{A) Sand {B) Grog {C) Leaves () Husk
82. Malar artist are known for their
(A) Wood carving (B} Terracoita (C) Metal casting (D) Iron wark
83. The dancing torso found from ‘Mohenjodaro’ is made of
(A) Bronze (B) Copper {C) Brass (D) Terracotta
84. In silk printing what makes the surface photosensitive?
{A) Potassium Permanganate {B) Potassium Dichromate
{C)} Sodium Hydrochloride (D} Nitric Acid
85. Himmat Shah studied at
(A) Delhi College of Art (B) Vishva Bharati, Shantiniketan
(C) M.S. University, Baroda (D) B.H.U., Varanasi
B6. Vaikuntha Murti is a typical expression of Vishnu popularly found from medieval
(A) Bengal (B} Kashmir (C) Nepal (D) Gujarat
87. Lothal and Kalibangan both are
{A) Situated in Gujarat (B) Pre-Maurian Site (C) famous for ancient port (D} Harappan site
88. From the following whose paintings represent French Classicism?
{A) Nicola Poussin (B) Jaque David {C) Francois Boucher {D) Jean Antoine Watteau
89. During whose reign Mughal architecture was predominantly influenced by Rajasthani architecture?
(A} Akbar {B) Jehangir (C) Shahjehan {D) Aurangzeb
90. Who created the famous sculpture ‘the Thinker'?
(A) Marcel Duchamp (B) Jean Arp {C) Calder {D) August Rodin
91. Nat Mandap of Konark Sun Temple is located separately on a high plinth. Where is it?
{A) In front of Jagmohan {B) South of the Garbhgriha
(C) North of Garbhgriha (D} In the backyard of Garbhgriha
92. Plaster of Paris is made of
(A) Sandstone (B) Limestone (C) Gypsum (D) Marble stone
83. The famous artist who painted ‘Three Women' in oil.
(A) Jamini Roy (B) Amrita Shergil (C) Raja Ravi Verma (D) AN. Tagore
94. Stonehenge is in which country?
(A) China (B) France (C} Japan (D) Great Britain
85. Colour is powerful form of communication.
(A} Activating {B) Non-verbal (C) Colourful (D) Confusing
96. “Artis the imitation of truth” was the famous quote of?
(A) Aristotle (B} Plato (C) Tolstoy (0) Socrates
97. “The wheel of life” that depicted the cycle of life, death suffering & rehirth is called?
(A} Mahachakra (B) Purnachakra (C) Bhavachakra (D} Binduchakra
98, JPEG s a:
(A) File format (B} Tool of a software (C) Colour format (D} Print format
99. The famous sculpture “Dancing Girl” found in excavation at Mohan-jo-daro was made of?
(A) Copper (B) Brass (C) Bronze (D) tron casting
100.'Geet Govind' has been composed by?
(A) Jaidev (B) Surdas (C) Tulsidas {D) Charandas
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